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Part A

Directions. In this part of the test each item (1-8) consists of an incomplete sentence. Below the sentence

are four choices, marked (1), (2), (3), and (4). You should find the one choice which best completes the
sernitence. Mark your choice on the answer sheet,

1- Scientists made this discovery after years of extensive ...... .
1) research 2) searching 3) investigation 4) experiments
2- T was so nervous during the wedding ceremony that my hands were ...... when I put the ring on her
finger. _
1) mixing 2) bending 3) moving 4) trembling
3- They maintained a constant store of foodstuffs, medicines and household ...... .
1) ‘vehicles - 2) items 3) dishes 4) weapons
- 4 Aln) ...... painting has been stolen from the National Gallery in Prague.
1) faithful ) 2) costly 3) expensive 4) valuable
5- They decided to ...... later in the week for an informal meeting,
1) get through 2) get together 3) get over 4} get back:
6- I was astonishéd that he turned down the job -1 ...... it would have been ideal for him.
1} am thinking 2) would have thought 3} had been thinking 4) have thought
7-  IP'mreally looking forward ...... home at the weekend,
1) to going 2).gone - - 3)togo _ 4) going
8- Only one hundred years ago it took at least five days to cross the Atlantic, ...... nowadays it is a matter
of hours.
1.) furthermore 2) whereas 3) therefore 4} even though
Part B

Directions. In each of the following sentences, (items 9-10), four words or phrases have been underlined.
You should choose the one word or phrase that would rot be appropriate in standard written English. Mark
your choice on the answer sheet.

9. A good artist, like a good engineer, learns As_z much from thei; mistakes as _fmm_l}ls success.
[]
10-  Ever since the reorganization was planned, there havezbggn 100 many promises, M and too few
[l .
prc;blem solved,

Part C: Reading comprehension
Each selection is followed by one or two questions about the meaning of the material. You are to_choose
the one best answer to each question from the four choices given.

The people of Kiribati are afraid that one day in the not-too-distant future, their country will k
disappear from the face of the earth — literally. Several times this year, the pacific island nafion has ‘
been flooded by a sudden high tide. These tides, which swept across the island and destroyed Illzulses,:E

i
- came when there was neither wind nor rain. “This never happened before,” say the older citizens of |
Kiribati. o



L _ ot me Dl

11-

12-

13-

14-

The people in this island are afraid because ...... .
1) in their isiand there is neither wind nor rain

2) the tides are very high

3) their land may go under water in future

4) the tides destroyed their houses

What is causing these mysterious high tides? The answer may well be global warming.
When fuels like oil and coal are being burned, pollutants are released; these pollutants trap heat

in the earth’s atmosphere. Warmer temperatures cause water to expand and also create more

water by melting glaciers and polar ice caps.

Some people believe the high tides ...... .

1) are caused by the change in the earth’s temperature
2) are caused by polar ice caps

3) are caused by melting glaciers

4) release pollutants

If the trend continues, scientists say, many countries will suffer. Bangladesh, for example,
might lose one-fifth of its land. The coral island nations of the Pacific, like Kiribati and the
Marshall 1slands, however, would face an even worse fate; they would be swallowed by the sea.
The loss of these coral islands would be everyone’s loss, Coral formations are home to more
species than any other place on earth.

If this problem is not solved ...... .

1) some coral islands will be the home of many species
2) some countries may lose as much as twenty per cent of their land
3) many scientists will suffer

4) Marshall Islands will have a better fate than Bangladesh

The people of these nations feel frustrated. The sea, on which their economies have always
been based, is suddenly threatening their existence. They don’t have the money for expensive
technological solutions like seawalls. And they have no control over the pollutants, which are
being released mainly by activities in large industrialized countries. All they can do is to hope
that industrialized countries will take steps to reduce pollution,

The problem will be solved only if ...... .

1) the people in these islands release less pollutants

2) the people build seawalls around their houses

3) industrial countries decide to reduce pollution

4) industrial nations step on these islands

The people in Kiribati ...... .

1) must contro! the pollutants 2) can build a seawall

3) don’t rely on the sea 4) dors’t know what to do
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INNOVATION

An invention, when applied for the first time, is called an innovation. The
distinction between an invention and an innovation becomes somewhat
blurred in cases like Du Pont’s nylon, where the inventor and the innovator
are the same firm. In these circumstances, the final stages of development
may entail at least a partial commitment to a market test. However. in
many cases, the firm that is the inventor is not in a position to—and dloes
not want to—apply its invention, because its business is invention, not pro-
duction; or because it is a supplier, not a user, of the equipment embodying
the innovation; or for some other reason. In these cases, the distinction
remains relatively clear-cut.

Regardless of whether the break between invention and innovation is
clean, innovation is a key stage in the process leading to the full evaluation
and utilization of an invention. The innovator—the firm that is first to
apply the invention-—must be willing to take the risks involved in intro-
ducing a new and untried process, good, or service. In many cases these
risks are high. Although R and D can provide a great deal of information
regarding the technical characteristics and cost of production of the inven-
tion-—and market reséarch can provide considerable information regarding

the demand for it—there are many areas of uncertainty that can be resolved
only by actual production and marketing of the invention. By obtaining
needed information regarding the actual performuance of the invention. the
innovator plays a vital social role. ’

Part I: Mark the best choice on your answer sheef:

16- A product developed for the first time is referred toasan ...... .

1) invitation 2) innovation 3} actual production 4) actual performance
I7-  The inventor usually ...... production.

1} is responsible for 2} has no commitment

3) selects the techniques of 4} approves the characteristics of

18-  As we understand from the text, ...... .

1} inventors should devote their energy and resources to the development of new products

2) Du Pont’s nylon is an example of innovation clearly distinguished from invention

3) the break between invention and innovation is usually neglected

4} a supplier is not supposed to be involved in innovation

19-  Itis NOT true that ....... :

1) innovation is a means of evaluating an invention

2) innovation is not a means of evaluating an invention

3) the distinction between invention and innovation must be free from uncertainty

4) in the case of Du Pont’s nylon, the inventor and the innovator are the same firm

20-  Introduction of a new good will not prove to be a success or failure until ...... .

1) it is marketed 2) the demand for it is evaluated

3) it develops areas of uncertainty

Part II: Mark on

the answer sheet the choice which is the closest in meaning to the underlined work.

21-  For a particular innovator, there is likely to be a time-cost trade off function.

1} exposed

4) the information regarding its cost is provided

2} exhaust 3} exchange 4) expensive
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22- If the production function were readily observable, a comparison of production function at two different times would

provide the manager with a simple measure of the effect of technological change during the intervening period.

1) interlacing 2) interleaving 3} interlining 4) interposing

23-  The oldest and most commonly studied productivity measure is labor productivity.
1) delay 2) degree 3) defect 4) device

24- The cost of equity capital is the equilibrium rate of return required by the inventors in the firm’s common stock.
1) baffle 2) battle 3) baggage - 4) balance

25-  The real impact of the antitrust laws depends on how the courts interpret them, and the judicial interpretation of these

laws has varied substantially from one period of time to another.

1} fuily 2) respectably 3) considerably 4} fascinatingly

Part III: Each question consists of a sentence with four parts underlined. Select that pari (1, 2, 3 or 4) which is not
acceptable for standard written English.

26-  Innovations are generally of two type: product innovations and process innovations,
1 2 3 4
27-  In science-base industries like electronics and chemicals, a firm’s snccess depends on the extent and nature of the
1 2 3

research and development that it carries out,
4

28-  General Electric, a leading manufacture of dishwashers, decided to invest about $40 million to make major changes in
1 2 3

its product and manufacturing process.
P
29-  To calculate the changes in total factor productivity for a firm or plant over a period of time managers_must obtain data
I 2
concerning the quantity of output and the quantities of inputs_utilizing in each period.
3 3

30-  Technological change of materials takes the form of new methods of producing existing products and new techniques of
T 3 3

organization, marketing, and management.
4
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(P AND P) AND (P OR P) OR (NOT P)

FALSE (Y
AL FALSE 4, P %1l TRUE (¢

TRUE (4
AL TRUE i, P ¢ TRUE (v

Wl e oo gl pate SUFLAG 3C = (B=v A= - [RERLG- T RS § 2

(A <> B> AND ((B + A) > c) OR (NOT FLAG>

TRUE (x
FLAG =FALSE §il25 TRUE (¥

EPSl:= -~ 1.0 ; EPS2:= EPS1;
While (EPS2 < 0.0) DO

begin
Writeln (EPS1);
EPS2:= EPS2/2;,
EPS1:= EPS2
end;
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o Ao 53 55 05 plig G Lol pan i (¥
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NOT (—~ 42 <> 3.0) OR NOT 10 < 20
INVALID (¥ FALSE (v TRUE (¥ T

pLIW 45 ri..lsﬂ uJ.:aJ- lﬁ-lj__} MU;{ 4.!.1:.;_)5(") ASUJLUJ alaas
FOR L=1 TO N po
FOR Ji= | TO N-1 DO
A=A+ Q)

N log,N (¥ N (v N (x N\

85y Sl g i i g1 (gla piza (6l gronn olie Sl g (gl prd 3
ini n=24000,k,i=0;
while (n = n/10 && ! (k = n % 10))
++i;
i=0,n=2400(¥ i=3,n=24( i=2,n=24( i=4,n=0(\

So 0 dalyi 42y S pUSY Gillae§ iia o yimme ilie Sl e Syl 3 o
int n=214,s=0,1,§ .

while (n) :
{
for f=1,i=1;i<=%10;f=f*, ++i);
s+ =
n/=10;
}
Yv (¥ Y¥ (v v Y ()
?J_,.:.\.Aly‘-u_jsﬂ.ﬁl{&‘.h-n)l.ﬁ.- UML- Oy gms g2t 3 ey
int n=20;
for (5;)
{

n+=3;if (n <= 10 ) continue ; n+ = 4
if(n>= 25) break;}
Yo(f (Y WY Yo (A

T ah g ol ke asr PrINUE("%d" , £(5 , £ (10, 3))); 32 sl

int f(inta,int b)
{
return (2 > b?a -b:a+b);

}
W (¥ Y (T Y (Y RG]

AR

AP

B R

Ty

AYY

=AY
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int f(int n)

{
static a = 0
teturn (a = a + n);

}

main () {

int a;

for(a=1;a <=3; ++a)
printf("%"d , f(a));

return { ;

} .
Fe¥or (¥ Fovor (v TOAGEY (Y Yerot (0

8l s aal o Sl yraas Sl 3 e ¢ (e S L;bv-u.ia_q.na'v..:.-u)u;.:_,l_,IZ.MSU 86 Cypee 4 plas UL, slaeshy 81 _yys

‘.'.\y_..l.ﬂy'-«:-;b_,aéb_,..i:.-

int a;
float b;
Scanf ("%d%f" , & a , & b);
a = \Y/ved ,b = Aff (¥ a=1Y,b=4afs(\
L-.;ho.ul_,s.c;y‘_;b,_-lts&;(v a=1y,b=./reo(r

Yoy dal gt wom§ Lize gl o JB o ms sl 51 e ATY
int i=1,s8=0,n=10;

do {i*=2 ; s+ =1*2;} while (i <=n);
AYA (¥ Feofr YA (Y YA (N

e .LAEJ;‘-‘_.;JULA.,'-LS_,L»IR_,:E:.-L}{LE.Q)L.;‘. Shell v

int m= 1¢
m+ =+4+m*2 - m%2;
¥Y (¥ ri(r Yo (Y Y (A
REPEAT fizaB = {4 YA = TY‘xéu.abGM&h:ﬁhBJAJE.SUaJS)&JiJL;JJDJJMbjM v
Al
A= A2,
B=B -2
UNTIL (A = B)

_ Sl fl.xSYL witlo t.slfl'i Solads olar
Wt Ve (Y VO (Y VE(N

...... Lwljny&Ja(*)dl_,,-lahsa;lm,I: Yo, ey he ‘5leH] = YIbL:_u‘c_Mij;.ga_P_\:.supJ: A

=1,
WHILE PI] <> P[I + 1] DO
begin
Pl +2]:=P[l + 2] -PlI+1]; (*)
L=1+1
end;

A (¥ S (v (Y o3 (A
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FOR i:=1 TO N DO

Begin
FOR ji=1 TO N DO
Begin
K@ij =03
IF (i+j))=N-+1thenKfi,j:=1;
end;
end;
.m}a;&hﬁjb laaslys (Y .M;iij.g_auﬂ..u_d;bd'l.nqba{\
el e By lys Al ¢ S uL.a'nﬁﬁJhS sleaslys (F el s Bashys 4l 9 S Jeol lad glaalys (¥

S R jltie (ALFA el 3 gt 31 g -VEY
Procedure ALFA (A : KType ; N : integer ; VAR R : Real);
Var [: integer,
Begin

R :=00;

FOR I:= 2 TO N DO

R:=R+A[l-1,1]*Al,I-1]

END,

o o e XA AR 5 et b s dss e (8
o be ot Jad (VU g et b 3 sl s (F ES R 3 el YL s Gl (Y

8 ol 5 kel askad JVEY
FOR IL=1 TO N DO

AL =105
FOR I'=1 TO N DO
All, J}:= 00;
_,i....aﬁud{.a.al.bg.b.\l{ﬂ QJL».A(\
aashs ady Sy s 3 sl o 59, S 28 L (¥ aslys acls (635 pno 3 Jl 0w (05 S5 20 L (Y
?J:;‘_’; ;_)l:;- C-‘)L:.F rL\SJ.J‘.E.A M‘..:j (_;ij:-‘l 'U L..L.iL: ali’s BOOK (83952 LthnJ‘J ;‘I AFYE
Program P;
Var
ch : char;
begin
Repeat
Read (ch),
if (ch >="a") and (ch <=7 then
Write (chr (ord(ch) — ord(’a") + ord ('A));
untif ¢ch="";
end.

ALTS (f ALI’'S BOOK (v ALTS book (¥ ALIS (3
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oy dal st am oy 5 M= 461; P(m); writerln (m =", m); < ymas gl L 1 F0

Procedure P(var m : integer),
var
n: integer;
begin
m= 0;
while m > 0 do
begin

n=n -+ m mod 10;
m:= m div 10 ;

end,
writen ('n =", n);
end;
n=\y ,m= ¥\ (¥ n=fF\ ,m= ¥y (¥ n=1\y ,m= 414 (Y n=\y ,m=.(\

(ol 4 oor ) S by 3808 ooy 5 Ll Ol s @l VS

fl:=0;f2:=1; £=1;
Repeat

write (f);

f.= f1 + f2;

fl:= 12,

f2:=1;
Until (f>20)

VLA, YL, 0, A, Y, Y (Y VLY, Y0, ALY
VLAV, YL Y0, AT (Y . ' VLY, ¥, 0, AT, YO

?J}JL’.A;_’J'\::IIJIJJA‘“ G!ﬁJqu)anﬁj:ﬂUJ{d‘ﬁH{ VRV
Readin (n) ;
Jo=2;
while J<n — 1 do
if n mod J=0then
break
else
J=T+1;
if T < n then
write (n) ;

L3 ) ode (T L5l ol sae (¥ Ll JalS ade (¥ A5G 5 sde ()

(M <= N oS 5 3) Sop dal s dr g5 Jilie Wby ankei (gl 2L VYA

READ » ,M, N
$=0
DO while (M.LE.N)

IF (MODM , 3).EQ.0).AND. (MODM , 7).EQ.0) THEN

§=S+M '

END IF

M=M+1

END DO

PRINT +, §

URARVATE ¢ EJJL.&-»“.SNJMO_J_J‘J—&‘&W(T IVEATAVEPS o u)L.a,«-ASN _,ML'J.:_:.}LL:‘A.AS(\“
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FUNCTION F(X , N)
REAL X(N,N),S
S=0
DO 2 I1=1,N

DO 2 J=1,1
S =8 +X(L})

F=§

RETURN

END

X sl ot i (535 polis g pama (¥ X gl ol b 5 polie g pemae (8

X e bl b 515 3 oot byl g gasma (¥ X gl oot Jai YU 5 ol i olis § pama (¥

(gor oy i 5 4) S Aal g a5 Bilie el ke gl 0
FA,X,N)=A*X*»N
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